Efficiency vs Dxy(PV)
0.2

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

——DQV_TT_VRFIT_ORIG
—— DQM_TT_MKFIT_MODIF

—— DQM_TT__MKFITLowPtQ_MODIF
—— DQM_TT_MKFITLowPtT_MODIF

[[Efficiend] —— DOM_TT_MKFITandPLess_MODIF

< 0.5

efficiency vs dxy(PV,
o [
e

o
-

%41 =050604020 02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

o ¥
T .
4 .
- e RECEE! | TEEEE PR EEPT
0%35 20 -i0 10 20 30
TP dz(PV) (cm)
Efficiency vs Dz(PV)
S 0.8
& : : :
w . . .
> .
& :
= .
k] :
] r H
= N
[} .

Ratio

-1 -0.5 0 0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


